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No Question Answer 

1 logx3 = 0.5   
2 log64x = 

1

3
   

3 loga√a  
4 logbb3  
5 (loga54 – loga6) ÷ loga3  

No Question Answer 

1 logx3 = 0.5   
2 log64x = 

1

3
   

3 loga√a  
4 logbb3  
5 (loga54 – loga6) ÷ loga3  



www.mathssandpit.co.uk/blog 
 

 

Crack the Safe starter: Logarithms 

 

 

 

 

 

 

 

 

 

The code is the product of all of the answers. 

108 
 

 

 

 

 

No Question Answer 

1 logx3 = 0.5  9 
2 log64x = 

1

3
  4 

3 loga√a 0.5 
4 logbb3 3 
5 (loga54 – loga6) ÷ loga3 2 


